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(Abv4) (Rbw%) % @hi @ha 2l 9%
Mha @ha
=Bt 113 (113) 113 (113)] 100 (100) 3,716 616 16.6
KinsAE™ 0 0 361 46 12.7
RFOBRLTH 2( 2 1( 1) 50(50 896 116 12.9
KIEtHH 10 1) 0( 0 0(0) 2,120 127 6.0
BEH 5( 5) 5( 5) 100100 900 81 9.0
PHT 13 (23) 10 (20)] 77(87) 938 177 18.9
HIEH 16 ( 33) 15(33)| 94 (100) 2,907 970 33.4
EFrTH 0 0 410 33 8.0
BHEm 0( 0) 0( 0)| 100100 870 57 6.6
Fheh 2( 2 1( D] 5050 2,800 116 4.1
HRA 0( 0) 0( 0)| 100(100) 1,192 125 105
EREHT 0 0 405 78 19.3
= $ERET 0 0 43 11 25.6
BInE BT 1C 1) 1( 1) 100 100) 283 26 9.2
LTHEET 0 0 112 10 8.9
JII e ET 0 0 225 12 5.3
=T 0 0 132 6 45
H R A<HET 25 ( 26) 25 ( 26)| 100 (100) 978 190 19.4
=hEN) 0 0 129 19 14.7
EnEL At 0( 0) 0( 0) 100100 250 64 25.6
= B ET 0 0 242 21 8.7
BER &+t 0 0 527 53 10.1
L 45T 0 0 55 1 1.8
[ ET 0( 0) 0( 0) 100100 358 18 5.0
AT EHT 0 0 175 7 4.0
=Eadil 0 0 178 10 5.6
KizHT 0 0 437 12 2.7
TrTHT 0 0 517 45 8.7
5.8+t 0 0 9 0 0.0
BEEHH 0 0 42 0 0.0
=t 179 (208) 172 (200) 96( 96) 22,207 3,047 13.7




